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7XMXDQ� GDUL� GLODNXNDQQ\D� SHQHOLWLDQ� LQL� DGDODK� XQWXN� PHQJHWDKXL� SHQJDUXK� VWUXNWXU�
NHSHPLOLNDQ�DVLQJ�WHUKDGDS�QLODL�SHUXVDKDDQ�GHQJDQ�RIIVKRUH�GHEW�ILQDQFLQJ VHEDJDL�YDULDEHO�
PHGLDWRU�SDGD�SHUXVDKDDQ�PDQXIDNWXU� \DQJ� WHUGDIWDU�GL�%XUVD�(IHN� ,QGRQHVLD� �%(,�� VHODPD�
WDKXQ� ����������� 6HODLQ� LWX� WHUGDSDW� YDULDEHO� NRQWURO� \DQJ�PHPSHQJDUXKL� QLODL� SHUXVDKDDQ�
\DLWX�WLQJNDW�KXWDQJ��SURILWDELOLWDV��OLNXLGLWDV��XNXUDQ�SHUXVDKDDQ��SHQLQJNDWDQ�SHQMXDODQ��GDQ�
XPXU�SHUXVDKDDQ�

0HWRGH�SHQHOLWLDQ�\DQJ�GLJXQDNDQ�DGDODK�PHWRGH NDXVDO�DVRVLDVL��'DWD�\DQJ�GLJXQDNDQ�GDODP�
SHQHOLWLDQ� \DLWX� GDWD� VHNXQGHU� \DQJ� GLSHUROHK� GDUL� ODSRUDQ� NHXDQJDQ� \DQJ� VXGDK�
GLSXEOLNDVLNDQ�� 3HQJDPELODQ� VDPSHO� GLODNXNDQ� GHQJDQ� PHQJJXQDNDQ� PHWRGH� SXUSRVLYH�
VDPSOLQJ GHQJDQ� PHQJJXQDNDQ� EHEHUDSD� NULWHULD� GDODP� PHQHQWXNDQ� VDPSHO� SHQHOLWLDQ��
0HWRGH� DQDOLVLV� \DQJ� GLJXQDNDQ� GDODP� SHQHOLWLDQ� LQL� DGDODK� 6WUXFWXUDO� (TXDWLRQ�0RGHOLQJ
�6(0� VHUWD�GLEDQGLQJNDQ�GHQJDQ�8ML�6REHO�SDGD�SURJUDP�6366����

+DVLO� SHQHOLWLDQ� PHQXQMXNNDQ� VWUXNWXU� NHSHPLOLNDQ� DVLQJ� EHUSHQJDUXK� WHUKDGDS� QLODL�
SHUXVDKDDQ�� VWUXNWXU� NHSHPLOLNDQ� DVLQJ� EHUSHQJDUXK� WHUKDGDS� RIIVKRUH� GHEW� ILQDQFLQJ��
RIIVKRUH�GHEW�ILQDQFLQJ�EHUSHQJDUXK�WHUKDGDS�QLODL�SHUXVDKDDQ��6HUWD�RIIVKRUH�GHEW�ILQDQFLQJ�
PHPHGLDVL�KXEXQJDQ�DQWDUD VWUXNWXU�NHSHPLOLNDQ�DVLQJ�GHQJDQ�QLODL�SHUXVDKDDQ�
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